Conversions and Equivalents Key

Use the following information to solve the problems below.  Solve the problems to measure the ingredient with the least amount of equipment.  Show all your work.  Put a box around the equivalent(s) that will help you solve the problem in your work space.


Equivalents


Abbreviations


¼ c = 4 T


T = Tablespoon


8 fl oz = 1 c

c = cup


1 pt = 2 c


fl oz = fluid ounce


2 pt = 1 qt

pt = pint


4 qt = 1 gal

qt = quart


3 t = 1 T


t = teaspoon


16 oz = 1 lb

lb = pound

¼ = .25





½ = .5


¾ = .75


1/3 = .33


1/6 = .66

EXAMPLE Problem:  How many cups are in 6 quarts?

	1 pt = 2 c

2 pt = 1 qt 



2 c x 2 pt x 6qt = _24 cups are in 6 quarts__

1. Convert the following:

a. ½ c = __8___ T  (1/4 c = 4 T, 4X2)

b. __16___ fl oz = 2 c  (8 fl oz = 1 c, 8X2)

c. 4 c = __2___ pt  (1 pt = 2 c, 4 / 2)

d. 6 pt = _3____ qt  (2 pt = 1 qt, 6 / 2)

e. 6 pt = _3/4____ gal  (4 qt = 1 gal, 2 pt = 1 qt, 4X2/6)

f. __16___T = 1 c  (4T = ¼ c, 4x4)

g. ½ is the same as _.5 or 50%____

h. ¼ is the same as _.25 or 25%____

i. ¾ is the same as _.75 or 75%____

2. Convert 18 Tablespoons into cups.

18T= 1 c + 2T  

	4 T = ¼ c. 

16 T = 1 c.



(4x4=16=1 c + 2 T)

3. Convert 20 fluid ounces into cups.

20 fl oz = 2 ½ c 

	8 fl oz = 1 c



(20 / 8 = 2.5)

4. Convert 72 fluid ounces into quarts.

72 fl oz = 2 ¼ qt

	8 fl oz = 1 c

2 c = 1 pt

2 pt = 1 qt


(72 / 8 = 9 and 9 / 4 = 2.25)

5. Convert 32 pints into gallons.

32 pt = 4 gal. 

	2 c = 1 pt

2 pt = 1 qt

4 qt = 1 gal


(32 / 8 = 4)

6. Convert 150 ounces into pounds.

150 oz= 9.38 lbs

	16 oz = 1 lb


(150 / 16)

7. Convert 56 teaspoons into tablespoons.

56 t = 18T + 2 t

	3 t = 1 T


(54 / 3)

8. .75 = _____ (fraction) = _____ (percentage)

9. ½ = _____ (decimal) = _____(percentage)

10. 25% =_____ (fraction) = _____ (decimal)

